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X_train, X_test, y_train, y test = train_test split(dt[factor], dt["count™], test_size = 0.3, random_s STl
' rfmodel = RandomForestRegressor(n_estimators=3000, random_state=42, max_depth=3@) *Jﬁfié*‘#

rfmodel.fit(X_train,y_train)

d = rfmodel.predict(X_test) s
5\;: = mga:isnjuateg:_:rc*ror(pizd, y_test) RMSEE‘I 54.1 3
RMSLEA1.28

print("RMSE =", MSE**@.5)
print("RMSLE =", MSLE**B.5)

»
RMSE = 154.13067529171568
RMSLE = 1.2845150860833485
red = rfmodel.predict(X_test L s 0
; e _ Erffllog:

MSE = mean_squared_error(pred, y_test)

I RMSE&1.27
print("RMSLE =", MSLE**@.5) RMSLE%Og']

RMSE = 1.2691033479515628
RMSLE = ©.30814407619288725
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from sklearn.preprocessing import StandardScaler
#EFEER
scaler = StandardScaler()
general_data = data[["casual_log", "count_log", "registered_log"]]
scaler.fit(general_data)
_  scaled = scaler.transform(general_data)
~ scaled = pd.DataFrame(data=scaled, columns = general_data.columns)

#8218 og B (KNNFE1E)

scaled["casual_log"] = (scaled["casual_log"] * 1@) .apply(np.floor)
scaled["registered_log"] = (scaled["registered_log"”] * 18) .apply(np.floor)
scaled["count_log"] = (scaled["count_log"] * 10) .apply(np.floor)

general_data = general_data.join(data.drop([“casual_log”, "count_log”, “"registered_log"],axis=1))

def build_kmodel(data, tuning_parameter):
X_train, X_test, y_train, y_test = train_test_split(data.drop(["count_log", "registered_log","casu
kmodel = KNeighborsRegressor(n_neighbors = tuning_parameter)
kmodel.fit(X_train,y_train)
pred=kmodel.predict (X_test)

MSE = mean_squared_error(pred, y_test)

return kmodel, MSE
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#finding the best k value
k_values = [3, 4, 5, 6, 7, 8, 9, 10, 15, 20, 30]

MSEs =[] HrhK value L JEIE B

models = []
E={Ef#(k=6)

for k_value in k_values:
model, MSE = build_kmodel(general data, tuning_parameter = k_value)
MSEs . append(MSE)
models.append(model)

kmodel = KNeighborsRegressor(n_neighbors = 6)
kmodel.fit(general data.drop([“count log", "registered log","casual log"],axis=1), general data["count

pred=kmodel.predict(data_test) EKagg IeFﬁ%E’\Jﬁj\%ﬂ
submission = pd.DataFrame({ N —
"datetime": dt_test["datetime"], (RMSLE)Z%O78, EHHT
"count”: [max(@, x-1) for x in np.exp(pred)] .
) 1% LAIRI20%.

submission.to_csv('KNN.csv', index=False)

q 3
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X_train, X_test, y_train, y_test = train_test_split(data.drop(["count_log", "registered_log","casual_li
rfmodel = RandomForestRegressor(n_estimators=3000, random_state=42, max_depth=30)

N rfmodel.fit (X_train,y_train)

pred = rfmodel.predict(X_test) =4 EE =3
MSE = mean_squared _error(pred, y test) {E}Eﬁp}”"ﬁ*'ﬁu;&t
MSLE = mean_squared_log_error(pred, y_test) N

Y RMSE£&0.35
print("RMSE =", MSE**9.5)

print("RMSLE =", MSLE**@.5) RMSLEA&0.09

4 »

RMSE = ©.3493234181071481
RMSLE = ©.09199942633926979

rfmodel = RandomForestRegressor(n_estimators=3000, random_state=42, max_depth=30)

rfmodel.fit(data.drop(["count_log", “"registered log","casual log"],axis=1),data["count log"])

pred = rfmodel.predict(data_test) .

e | SEEERERRETA
datetime": dt_test["datetime"],
"count”: [max(@, x-1) for x in np.exp(pred)]

}

submission.to_csv('RF.csv’, index=False)



{ERYEE -Random Forest

rfmodel = RandomForestRegressor(n_estimators=3000, random_state=42, max_depth=30)
rfmodel.fit(data.drop(["count_log", "registered_log","casual_log"],axis=1),data["count_log"])

. pred = rfmodel.predict(data_test)
submission = pd.DataFrame({
"datetime": dt_test["datetime"],
"count”: [max(@, x-1) for x in np.exp(pred)]

)

submission.to_csv('RF.csv', index=False)

ERFRIEEERHETTRR], WHEscRKaggle
FTSHI2EIRMSLE)A0.41, EHETHE E4TR110%
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